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SAdleyenrast : (1) smaids elamssend sfurs sds udeurd e ararsm remLBe &
sflurrggs Qsrarereyn. ssLudaila @mwuﬁl@mﬁle‘ﬂ 20D
samarasiuuretflib 2 amqwrs Ggflellaseyw. -

2) Beood sdeg smHUY @wvlimear TWHUSDELD a;q.és@aarrq@sx-:g,p@'m
LWELEES Couan@ib. uLksE aearausn@ Cuendle LWETLBSSEL:

Instructions : (1)  Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately. !

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@Oy : Qeuedemnggrer BIenE UGSHsmans HanamLg).

Note : This question paper contains four parts.
u@8 - 1/ PART - I
@moy = () Senenssl ollarssEns@n ellelwalssayn, 12x1=12

() Qar@éstul@aet prang wrp dorsdld Bsan gpyemu
Ao s CoisAs058 GABLOLar aflen wenamyyp Gsirig
aTgsaiD.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four
the option code and the corresponding answer,

Note :
alternatives and write
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 aGpréAu EWLD GTEMLI%) 6THaH iy UemTumgin 2
1.

() G () e (8) Qeowsdr

he endarch condition is the characterigtjc feature of .

a) Root 1_(5( Stem (c)

(F) werger

Leaves (d) Flowers

2. TPMaaug CerlQer erig UGS Qurmenars

| GH&dng) -

(1) evey C 18 e
(@) GsmUuy Qurmser (rF) asrrr'rGurrmgmL'_Gr;rL'_
TFM in soaps represents content in soap
{a) Mineral (B)  Vitamin
F
atty matter (d) Carbohydrate

3. Gurg eumy wrhledlu e LN
(1) 381 ] Guomrg-1 -1 (<) 8.03 ] Cuomey~1 k-1
(&) 138 Guore~1 -1 (7) 831] Guore~1k-1
The value of Universal Gy Constant
(@) 381 mer-1 K-1 (b) 8.03} mol-1 k-1
Q1B mort g & 831] mol=1K-1
‘.

U
(<=31) Beng g, or Y ey e
o
Kilowatt hoy, ;- the (/) Qe Amen
nijt of

(a) resisliyjly '
o aecri “

(d)  electrical power

conductivity
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5.  DNA -epeu QaulLU vweru@w Gprg
(1) yCrm_igGuien (2p) Qrev_Mgaen ﬁa&u‘r@;rrﬂgémﬂ(gwdu
(@) DNA eraGaev (") RNA Qprésar
An enzyme which cuts DNA is :
(a) Protease L(b)"/l'{e‘striction endonuclease
() DNA Ligase (d) RNAase
6. &@m Core araug ____ po&mmsmears QareaiméEL.

(=) 6.023x 102 ()6.023x10°3 (@) 3.0115x108 () 12.046x10%
One mole of any substance contains molecules.

‘,}a')/ 6.023x102 (b)) 6.023x10"3 () 3.0115x102 (d) 12.046x10%

7.  geooews sTUd e GHLALLuDeaug eTg ?

() Gaflwed &rong (<) Ol f srond
(8) eogrmu® &rod () o fare srind
Which one is referred as “Master gland” ?

(a) Pineal gland }  Pituitary gland

(c) Thyroid gland . (d) Adrenal gland

8. srhm eyl warHss Gsrses perdumgb grarmsda uarysGearr(
Qgrideersg) ergl ?
(S1) WTEET GTTTTLIES D&THSESEETHEOET e nuss Geudeper.
(=) GOWYWrery Auilugnseyw, QauelCu BligésQsramBid A®EE L.
(@) waiser HMD, warb wWHmyL Cgen HIEGWL Senemvulieranyn Qemeiria (w1,
() warHssgIeM&d dflugrsab o fbSSTEMND @(MmEELD,

Wyamong the following is not the characteristic of anemophilous plants ?

{2~ the flowers produce enormous amount of pollen grains.

(b) stigmas are large and protruding.
e flowers are brightly coloured, have smell and nectar,

(d en grains are small and dry.

[B®UYS / Tum gver



7729 _ q
9.  SpssTLeubmcr Benaon THMME sniihEg ?
(1) Qurpeflen eren

(Q) Qurgelien feng

Inertia of a body depends on :

(<) Careflen riviy @HEsWL

(7) (=) wpgd> ()

(@) Weight of the object
dg/Mass of the object

() Acceleration due to gravity of planet

(d) Both (a) and (b)

10. Q158 PLLSHen sflumey wufles erg o
(<) Qeusa'vrt'_rﬂé;ﬁm = glflu — ey — FLoeH]
() TLfMd - Qeusin Msdiar for - gwafl
(&) glflue - Cleueir_flader — swail - Hany
(7)) Qenar Mader — flevr - e Auup — sLoaf]
Which is the correct sequence of blood flow ?

(a) Ventricle —» Atrium — Vein — Arteries

(b) Atrium — Ventricle — Vein - Arteries

%ﬂim — Ventricle — Arteries — Vein

Ventricle-;Vein—)Atrium—)A:te;ri_es

11.  Yemeumeueneummer o185 “seflob + gaflob - Gsrwn” s D6y ?

(34) C(5)+02(g)-—> Coz[g) (<21,) ZK(S) + BTZ(I)_’ 2KBr(s]
(8) 2C0() +Oy—2C0,, () 4Feg)+30,5)2Fe 0,
Which of the following is not an “element + element — compound” type reaction ?
(@) Cis* O™ O (b) 2K+ Bryg—2KBr,,

(&) 2COg) *+O2ig) 2 2C0 (d)  dFerq + 30y 2Fe,0,,



1. e98ewd Qseedle UPRCETW 2 Meurausne aréngy @UWI.

(1) @’J%!»&G&“&m” (=) srr&Ganon

(@) srifiGammon (™) SOGumor
Cancer of the epithelial cell is called as

\{ eukaemia (b) Sarcoma

%Ca rcinoma (d) Lipoma

LGS - 11/ PART -1

@iy : aemauCuend g larrss@EsE e walssan. aflenr eram 22 -5
sL_Lmuwns edeLweall&seawn. 7x2=14

Note : Answer any seven questions. Question No. 22 is compulsory.

13, Gempm Geuliu efifley @ewrad erepmed eraean ?

What is coefficient of apparent expansion ?

L/Tfj Henaflenip eferé@saiid Lievean 2 Carshd waru@GssuuBEpg. eme Wler
2 mé) Genpuins seantt LuELESHuHD®D. arén ? |

Why is tungsten metal used in bulbs but not used ds fuse wires ?

L
-~
-

-~
-~

A5, &M GTeLg| eremesr 7 gih 2 (THGUM(GHEUSEH &Lnsirfurrl;euat_g, SH(H&.

What is rust ? Give the equation for the formation of rust.

16, GuenL eremmmed ererman ?

What is stage ?

[@@L'Jq&s / Turn over
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. enagGen g’ : » o hoL. .
17 Tlflwe 5 "@QawsHen CuenCuodiami Gren e &mgaéuu@’ﬁm@ - o

Why is sinoairj
1
Atrial node called as Pacemaker of heart ?

J{ et epanemuf gy UNsluser wirengy »

What are the Parts of the hind brain ?

P
197 Qar@éscue A s o
’ “Oeer LLsBe A B ¢

SremTayLh. LODID D dlw UTsRENT HDL Wiy

Identify
Y the parts A, B, ¢ and D in the given figure

20.

What is colostrum ? How js milk production hormonally regulateq

21, QuoL_LmevLmélen MG eTena ?

What is melastasis ?

\;2/ S HaTED P infliy 45 arafle, ogen pol ey
ST,

Lo « ,
If the pH of 8 solution jg 4.5, find the value of its pOH,
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u&S - 111/ PART - N1
:10))

7x4525

@gjh.'n_l ; TpaGLEID T SaTss@rsE oL welssaud. oflam e 32
s muwns el wefllsgeyw.

Note : Answer any seven questions. Question No. 32 is compulsory.

93, Peewgda vaGay umssmar aBEgIssTLHEHERLe ollaTéEs.

Explain the various types of inertia with examples.

.}41/ (1) Gupers wogd Qewpens sHflwsssHean gCaauD epeanm L@TLS®ET T (SIS
(<) BlenGenmi LsHan QautiL eflenerenculs LIWETLGSS QeuduBL Gren® L

srgemuseaiian Cuwflenend snms.
(a) Write any three features of natural and artificial radioactivity.

(b) ' Name any two devices, which are working on the heating effect of current.

25. (&) MgSO,.7H,0 2 Uflenen Qeuliutiu®agnGung eranen Blapdng ? @Qeueiienand-
' STES FLOKTUINL g H&l ET(PSIE.

() seFdlmen — umTLMSHELD.

(a) What happens when MgSO,.7H,0 is heated ? Write the appropriate equation.

(b) Define : Solubility.

,26- (<)) GeuME FraY ETENMITE) eTameaT ?
(=) paflé GoraesllaCurg Qe eloanss ety aen geofl efleen pen Qup
Couat(Hw ?
(a) What is Respiratory Quotient ?
(b) Why should the light dependent reaction occur before light independent reaction duting

photosynthesis ?

[ miiys / Tum over
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vdplu@s]m ue UMUILILITL i ghan T(PG)5.

Write the dental formula of rabbit,

(a) Why is Euploidy considered to e advantageous to both plants and animals ?

(b) Classify Neurons based on jts structure,

4 .
29. OGHSEHD. Aeopaeni SimolGar o e ereueuny CamuGampen ?

How are Arteries and Veins Structurally different from one another ?

, )0./ auLy @en sreuredwe CTELSES QUDTLIMIES!, DiFan Wwéusgeugams Tss.

Define Ethnobotany and write its importance.

3. (@) srflinfemmed GHULssmg efenaeyser wiraney ?
(<) DNA eflye) Grenag Qsmfléy BILUSSen peLpenp LeTUTREaend Eal5.
(2) What are the consequences of deforestation ?
(b) State the applications of DNA finger printing technique.

32,

(1) 708 sl sigifallu o Corssamg Gswdun Blenade o L LPSED ? aren ?

(<p) 1.51 %102 QPO&&Iy 2w NHCl -a1 Guraselear crareflémsemnus
SEE DS,

(a) Name the acid that renders Aluminjum passive. Why ?

(b) Calculate the number of moles in 1.51 x 102 molecules of NH,Cl——
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u@GS - IV/PART - 1y

: : . : (o
eIy : Siwamss damss@se e walssan. Cpmauura gLuse® L 0
GUETILIGLD. 3%
Note : Answer all the questions. Draw diagrams wherever necessary.
33, (@) () EeNCedndar LGS WTea.?

Apudflens - QUATWIISSHELD.
CUITEGUTEES @Fms ellenéEser fleulLy Ansdé Siewssiupause Sy
erenan ? '
paL penGamsduian Bedlpperay erare ?
EATNEVES

rHQymedl erenpred Greman ?
afQyrad Calugpster @ran® Hupsoasmas smns.
THQArredldan wHSFAL LTSS SaDi.
adQrredlewl Lwau@sS golen HeasCassmss TS
What are the uses of convex lens ?
Define dispersion of light.
Why are traffic signals red in colour ?
What is the least count of travelling microscope ?

OR

What is an echo ?
Gtate two conditions necessary for hearing an echo.
What are the medical applications of echo ?

How can you calculate the speed of sound using echo ?

[ é]@,_‘;q&' / Turn over
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o H, UTWL&E&ener
@Cr Qeuryyy (&8 Henquudied 3 6. 0,,5 0. Cl, LommiLo 6 &l Hy

m@\g@‘.}, Q& regr_méy o
; QaneimgOHGD 7
(A) oy ds sramaflGesulloner ppasNsOeTsS (ol& e g
; : ST (HEGD 7
®) o5 Gons crarafsmsdone ep & [)FEETS Qaramp(Hh&EE

Belen A@S Asratensuden Cam ur(amer o (LHEI5.

AV
G TEl e aer ereueumy Benry wrsLu@sE e ?

@0 sMws Corpp <’ Taugen apssmn eumiuur® CHO,. Qs
SIS ICE AT vwearu@fng. Coaib assaraen elmayflhg
faflw LaEYpeLL Cafwbd ‘B -ews smEng erafle,

(A) Goiwnd ‘A’ -ewis s&TL s,

(B) Gsiwi B 2 hauns® eloetdaan 6rpgs.
(C) @,r_%;ﬂeaggeﬁl;b@l'_l QuwA@s.

Under same conditions of temperature and

pressure, if you collect 3 litre of O,,
5 litre of Cl, and 6 litre of H,,

(A)  Which has the highest number of molecules ?

(B)  Which has the lowest number of molecules ?
Give the salient features of ‘Modern Atomic theory’.

OR
How do detergents cause water pollution ?
An organic compound ‘A’ is widely used as a presery

formula C,H,0,. This compound reacts with
compound ‘B, then

ative

and has the molecular
ethano]

to form a sweet smelling
(A) Identify the compound ‘A’
(B)  Write the chemical equation for jts reaction w;

B ith €thano] g form compound
(C) Name this process.
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() ) Qewpens bafesern eramume WTMa ? a@EHGETLH SOS-

i) YsED sreurghe o dren GSHHE S@LIHU LTED LHHID L ps-

eflers 5.
IV

() () "@bHu usewn yr Al sHes” Tar SmpssUILGUMT W ?

(i} 2Csely whmb Caudlésaiy - Caunu®sss.

(i) cuens [ LOHML auens I Hfiyfley Crmusamer CaumuRS55.
)  What are synthetic auxins ? Give an example.

(i) With aneat labelled diagram, describe the parts of the typical angiospermic ovule.

OR
(b) (i) Who is called the “Father of Indian Green Revolution” ?
(i) Differentiate between out-breeding and in-breeding.

(i) Differentiate between Type-I and Type-II Diabetes mellitus.



